
 15.14 to 24.14 

 8.000 

8

7

9

8

4 6 5

2 1 3

 2.750 

 2X  .260 

 NOTES:

1. BREAK SHARP EDGES.

REVISION
REV ECO DESCRIPTION INIT DATE
A - ENGINEERING RELEASE NL 08/26/2024

ITEM 
NO.

PART 
NO. DESCRIPTION QTY.

1 225814 WELDMENT, OUTER ARM 1
2 225813 WELDMENT, INNER ARM 1
3 225811 BRACKET, CLAMPING W/ ROUND HOLES 1
4 177871 CARRIAGE BOLT, 3/8-16 X 4-1/2 GRADE 5 FULL THREAD ZINC PLATED 2
5 22072 LOCK NUT, 3/8-16 HEX NYLON INSERT ZINC PLATED 2
6 21938 WASHER, PLAIN 3/8 TYPE A 2
7 35316 1/4-20X2 HEX HEAD CAP SCREW GRADE 2 ZINC PLATED PARTIALLY THREADED 1
8 15145 Washer, Plain 1/4 Type A 2
9 14635 Nut, Lock 1/4-20NC Hex Nylon Insert Steel Zinc Plated 1

A REV P/N

DESIGNED BY / DATE

N.LEE
08/23/2024

PEER APROVAL/ DATE

N.LEE
08/26/2024

 3.61
 ESTIMATED WEIGHT (POUNDS)

MOUNT, HID LONG RANGE

UNLESS OTHERWISE SPECIFIED
UNITS TO BE INCHES

ALL THREADS TO BE CLASS 2
ALL DIMENSIONS APPLICABLE

AFTER TREATMENT

1 OF 11:2.5
DO NOT SCALE

SURFACE
DRAWING

DRAWING TOLERANCES
TOLERANCES

UNLESS OTHERWISE SPECIFIED

SEE BOM

DRAWN BY / DATE

N.LEE
08/26/2024

 SHEET

 THIRD ANGLE PROJECTION

 SCALE

225411

 MATERIAL

 TREATMENT

NONE

 DESCRIPTION

THIS DRAWING AND INFORMATION CONTAINED 
HEREIN, IS AND REMAINS THE PROPERTY OF RICE 

LAKE WEIGHING SYSTEMS INC., HEREINAFTER 
REFERRED TO AS RLWS.  IT MAY BE USED ONLY FOR 

RLWS’ PROPOSAL AND/OR ITS CUSTOMERS’ 
ORDERS.  IT SHALL NOT BE DISCLOSED OR COPIED 
WITHOUT RLWS SPECIFIC WRITTEN CONSENT AND 

SHALL BE IMMEDIATELY RETURNED UPON REQUEST.

FINISH

 MINIMUM CRANE  CAPACITY:

 NUMBER OF CRANES:

±.01

±1ANGLE: 
±.005 .XXX: 

  .XX: 


	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4


